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  פים שירדו סעי  שאלה   מבחן 
  הכול   1  1
  3-, ג   2 -ג  2  
  הכול   5  
  הכול   2  2
  ב , ג , ד   3  
  ז  4  
  הכול   5  
  הכול   1  3
  2-, ב  2-א  3  
  , ה , ו , ז   2-א  2  4
  ב  3  
  הכול   4  
  הכול   5  
  2-ב  1  5
  הכול   2  
  א  4  
  ו  5  
  א  3  6
  ב  , ו   5  
  , ד   3-ג  2  7
  2-א  3  
  ה  4  
  ב , ג   5  
  הכול   1  8
  2-, ג  4-ב  2  
  הכול     3  
  הכול   4  
  הכול   5  
  ב  2  9
  א , ב   3  
  הכול   4  

  הכול   1  10
  2-א  3  
  הכול   4  
  הכול   5  

  הכול   1  11
  2-ב  2  
  הכול   3  
  הכול   4  

  הכול   1  12
  ג  2  
  ד, ה , ו   4  

  2-ב  2  13
  הכול   3  
  הכול   4  
  ד  5  

  הכול   1  14
  ג  2  
  א    3  
  הכול   5  



  ה , ו   2  15
  ג , ד , ה   4  
  הכול   5  

  הכול   1  16
  ב , ד   2  
  א    3  
  ה  4  
  ה , ו   5  

  ב,  ג    1  17
  1-ג  2  
  הכול   4  
  הכול   5  

  א  3  18
  הכול   1  19
  ד , ו   2  
  , ב   2-א  3  
  הכול   4  
  הכול   5  

  הכול   1  20
  1-ב  2  
  ב  3  
  הכול   4  
  הכול   5  

  6-ב  2  21
  3  *  
  הכול   4  
  הכול   5  

  הכול   1  22
  *  ,  4-, ג  2-ג  2  
  הכול   3  

  הכול   2  23
  הכול   3  
  הכול   5  

  4-ב , ג   2  24
  הכול   4  
  ד , ו   5  

  הכול   1  25
  2-ג  2  
  הכול   3  
  ג  4  
  *  א ,   5  

  הכול   1  26
  ה , ו   2  
  2-א  3  
  הכול   5  

  הכול   1  27
  הכול   2  
  הכול   3  
  הכול   4  
  *  , 3-א  5  

  הכול   1  28
  ד , ה    2  
  2-ב  3  



  הכול   5  
  הכול   1  29
  4-, ד  3-ב , ג  , ד  2  
  הכול   5  

  ד  1  30
  ב  2  
  הכול   3  
  ב    4  
  ג  5  

  הכול   1  31
  ג  2  
  הכול   3  
  * ב  4  
  הכול   5  

  * א  1  32
  * ב  3  
  הכול   5  

    ד ,  ג  1  33
  הכול   2  
  הכול   4  
  , ד  ג  5  

  ג , ד   1  34
  3,   2-ג  2  
  הכול   3  
  הכול   4  
  הכול   5  

  הכול   1  35
 , ו   הא ,   2  
  הכול   3  
  הכול   4  

  ג , ד   2  36
  הכול   5  

  הכול   1  37
  הכול   2  
  ג  3  
  הכול   4  

  הכול   1  38
  ד , ה   2  
  ה  4  
  ג  5  

  הכול   1  39
  ה  2  
  הכול   3  
  הכול   4  
  ל הכו  5  

  הכול   1  40
  4 -ב , ג   2  
  הכול   4  
  הכול   5  
      
      
      

  



  להמשך השאלהלהשתמש  בתוצאת הסעיף   *

 A'CA = αשינוי בנתונים :   *


